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  
  
100 xyPY5 

PX2xyUT    
 

 
 

 
  
 64  z , y, x    

2x4 y1z 
 

 
 

 
y, xxP , yP   

RylogxlogU  
 

y, xR , xP , yP    
 

 
 



32010
 

1 
2 

10%5
3 

3800

1020
210xyUT  
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         TMS    TMS
 

 
 

 
211 xlog2xlogU     

 
2
212 xxU  

 
yx YPXPR  

 
 

 
 

 
    10xxUT 2

2
1   

DA4P,DA2P 2X1X 50 
 

1 

2 
 

 
 

xyUT 40xP 

80yP2400 
 

1xy 

210 
 

 
 
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2000

(T)40 20(M) 3
2

3
1
MTU  

 

1TM 

280 
 


 

 
 
   

(x)40(y)20240
    

TMS 

44

            3  
 

1
 

2U=12x²y 
3  4020 

 
4 

 
 

  
             

46044

30 

2
1

2
3

2
3

2
1

TUmT

TUm

S6

S6S




 

 ST 
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 

14
4 

2 
3600

 
 

            
 

 
  
 

yx ypxpR  
 y5x2100  

  

)y5x2100(xyL

ypxpR
)y,x(fMax

yx







 

 

)3(0y5x2100L

)2(
5
x05x

Y
L

)1(
2
y02Y

x
L


















 

12 


2
y

5
xx

2
5Y  

3 

.10y
25x
250UT





 
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 
  

 
zyx zpypxpR  

 
zy4x264 x  

 
)zpzypyxpxR()z,y,x(UL   
 

)zy4x264(yzxL 2   
 



)4.....(zy4x2640zy4x264L

)3.........(....................yx0yx
Z
L

)2........(....................
4
zx04zx

y
L

)1......(....................xyz02xyz2
x
L

22

2
2
























 

123 

y4x,zxyx
4
zxxyz 2

2

 

4 
16384U,4y,16z,16x  

 
 

 


الحدیة.المنفعة
الحدیة.المنفعة

y
x

P
P

y
1
x
1

P
P

y

x

y

x  
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

yx

x

y

yx

xy

yPxPR
P
P

yx

yPxP

P
y
1P

x
1









 

X 

xy

yx
x

y

P2
Rx,

P2
Ry

yPP.
P
P

yR




 

            

     y, X      x

        y     

y, x 
 

 
 

1 
yx ypxpR  

 
Y20x1080  

xy 

2TMS 

Py
Px

x
yTMS 





 

20
10

2
1TMS  

 

Px
PyTMS  

 
 
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 

 
 
 
 

 

 
Py10 

20
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1
1

x
yTMS 
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
 

3 
y20x1080  
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x
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P
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argUm

x
yTMS 





 

x
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xy20
²y10

Y
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X
U
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x 






 

yx
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P

2
1

x
54.0

y

x  

Umarg 
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